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Who is the current Chief Election Commissioner

of India?

(A) Rajiv Kumar

(B) Sushil Chandra

(C) SunilArora -

(D) V.‘S. Sampath

G-20 Summit 2025 will be hosted by which
country?

(A) India

(B) SouthAfrica

(C) Brazil

(D) Japan

A shopkeeper buys a watch for Rs. 800 and
sells it for Rs. 960. What is his profit percentage?
(A) 15%

(B) 18%

(C) 20%

D) 25%

A train travels 240 km in 3 hours. What is its
speed?

(A) 70 km/I.1

(B) 75km/h

(C) 80km/h

(D) 90 km/h
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AT & g e Fare SigR @i 87

(A) T HAR

(B) Gafter ds

(C) it Tt

(D) dt.uq. H9

S-20 e g@eE 2025 # ASEEl SH-A
3 Hum?

(A) 9Ra

(B) sfrr stbie

(C) s

(D) ST=

T SR 800 F. ¥ ST @il & 960 &.
T Jar ¥l SEe @ AfeE a4 e

(A) 15%

(B) 18%

(C) 20%

(D) 25%

wh 34 3 €2 §240 Tl A1 g 9w
Il A 87

(A) 70 Ffi A, :

(B) 75 it /A,

(C) 80 Fpit /4.

(D) 90 ffi /.

PT.O.



5.

What is the area of a triangle with base 10 cm
and height 6 cm?

(A) 30em?

(B) 60cm?

(C-) 40 ¢cm?

(D) 50cm?

IfTREE is written as USFF, then how is LEAF
written?

(A) MFBG

(B) NFAG

(C) MFAG

(D) NFBG

Pointing to a woman, Ramesh says, “She is the

daughter of the only son of my father.” Who is

the woman to Ramesh?

(A) Sister

(B) Niece

(C) Cousin

(D) Daughter

Five friends A, B, C. D, and E are sitting in a
row. B is to the right of A, but to the left of C. D

isto the right of C. and E is at the extreme right.

Who is sitting in the middle?
(A) A |

(B) B

(C) C

(D) D
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T Brge frEe ser 10 3 o) FaE 6
2, IO B T B

(A) 30cm?

(B) 60cm?

(©) 40 om?

(D) 50 cm?

af¢ TREE # USFF ferar st 2, &t LEAF &t
34 forar smee?

(A) MFBG

(B) NFAG

(C) MFAG

(D) NFBG

T HEA B ST AT HW g WA FeA 2,

“qe A e % s g G B1” 98 AR
W N HA 27

(A) F&

(B) wisit
(C) ==l @&
(D) &

9/ &6 A, B, C,D X E s Re § 3 ¥ B,

CAFaE AR AT C 3 aE @A D, C

% o 3R ? oI E faegd o 87 w31 B
g1 § 9 dar 27

(A) A
(B) B
(4R
(D) D
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9.

10.

11.

2.

What is the name of India’s latest Lunar mission

launched by ISRO in 20237

(A) Mangalyaan-2

(B) Chandrayaan-3

(C) Gaganyaan

(D) Aditya-L1

What is the name of the new Women’s
Reservation Bill passed in 20237

(A) Mahila Shakti Bill

(B) 108th Amendment Bill

(C) Nari Shakti Vandan Adhiniyam

(D) Women Empowerment Act

Choose the synonym of the word: "Eminent".
(A) Unknown

(B) Ordinary

(C) Famous

(D) Weak

Choose the antonym of the word: "Optimistic".
(A) Positive
(B) Cheerful
(C) Hopeful

(D) Pessimistic
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10.

1.

= g/ 2023 # i T I R & Tdbead

o5 M9 @1 A # 87

(A) EEM-2

(B) d=aM-3

(C) WA

(D) sTieeT-udl

2023 # wita fw Mo qu AfEer e Faes
P A HJT 87

(A) wfeen ifth faeas

(B) 108ai delee faeae

(C) i ot de arfafam

(D) wfger AsihEeT StaFET

Choose the synonym of the word: "Eminent".
(A) Unknown

(B) Ordinary

(C) Famous

(D) Weak

. Choose the antonym of the word: "Optimistic".

(A) Positive
(B) Cheerful
(C) Hopetul

(D) Pessimistic

PT.O.
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14.

16.

Identify the grammatically correct sentence:

(A) Hedon’tknow the answer.
(B) Hedoesntknows the answer.
(C) Hedoesn’tknow the answer.

(D) Heisn’t know the answer.

STl 9i 76E U 1 fRr-fadiaer 87
(A) FEES

(B) Ritara®

(C) HeAErES

(D) RHrEES

. ‘MO @ wd faem st @ anm?

(A) oTRsT
(B) fewesr
(C) Frdm
(D) @t

Which of the following is notan output device?

(A) Speaker
(B) Projector
(C) Monitor

(D) Joystick

. What is the default file extension of MS Word

2016 document?
(A) xt

(B) .doc

(C) .docx

(D) pdf
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13.

1.7

. Identify the grammatically correct sentence:

(A) Hedon’tknow the answer.
(B) He doesn’t knows the answer.
(C) Hedoesn’tknow the answer.

(D) Heisn’t knbw the answer.

. S 9= 58 T @ G-k 37

(A) FTETES
(B) fcrar=ra
(C) g=amEs
(D) TRErEES

T F wE fadm g @ B
(A) TRy

(B) fawr

(C) forir

(D) aofr

FrT & 8 B9 ereeye feard @ 27
(A) #iF
(B) SRy
(C) Hifet
(D) sitafes

THUH FE 2016 THES @ Bhie wed v

1 &7
(A) .xt
(B) .doc
(C) .docx

(D) .pdf

Contd...



18.

19.

2],

Which symbol is used to start a formula in

Excel?

(A) @

=

(B) #

I

©)

D) $

What is the use of MS PowerPoint?

(A) Dataentry

(B) Making presentations

(C) Drawingonly

(D) Typing letters

Which shortcut key is used to start a slide show
from the beginning?

(A) F5

(B) F7

(C) Ctrl+S

(D) Shift+ Enter

What is a Slide Layout?

(A) Animation format

(B) Arrangement of text and graphics
(C) Fontstyle

(D) Background color
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18.

19.

20.

3.

v § R e & gE &6 & ke
fare %1 IuEn e S 20

(A) @

B) #

(©)

D) $

CHOH UIETETEe H ST Rt e o 27
(A) ST Eh

(B) SSies™ ST

(C) Faad ZET &

(D) SR =T8T FA

TR & TS A gE B & fog B Siewe
Flt wErT & S 87

(A) F5

(B) F7

(C) Cul+S

- (D) Shift+ Enter

WRE Sel3c a1 aidr 87

(A) TFHIE T

(B) uie i mither @1 Faes
(C) %= it
(D) g9 &1 T

P.T.0.
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24.

25

Header and Footer are used in:
(A) Printing page numbers

(B) Making hyperlinks

(C) Drawing diagrams

(D) Password protecting file

. Which function is used to find the average in

Excel?
(A) =ADD()
(B) =SUM()
(C) =AVERAGE()

(D) =MEAN()

Which of these is a valid cell reference in Excel?
(A) AS$1

B) 1A

(C) AIB2

(D) AB$

What is the file éxtension of a PowerPoint
presentation?

(A) .docx

(B) xls

(€) .pptx

(D) txt
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22.

23.

24,

235.

2T 3R G F IWT A S R

(A) O ¥& fiie Fo

(B) BETfei® ST

(C) oRE AT

(D) mﬁwwaﬂm

T | S S0 & & 0 SE-a1 G
YA e 87

(A) =ADD()
(B) =SUM()
(C) =AVERAGE()

(D) =MEAN(Q

THE § HE-A1 Ad ded d 27
(A) AS$I

B) 1A

(C) AIB2

(D) AB$

UER@rge Soies™ & WiEd URHesM F el
27

(A) .docx

B) xls

(€) .pptx

(D) txt

Contd...
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26. If u= f(f-;)—l,z], then find the value of
) T
du ou du
X—+y—+z2—
ox oy O
(A) If
B) 0
(C) 2f
(D) 3f

27. Theenvelope of the lines y = mx + % :
(A) y*=4ax
(B) y?=-4ax
(C) x*=-4ay
(D) x2=4ay
28. Lim Z is:
Z
(A) 0
B) 1
(C) i

(D) doesnotexist

zZ—sinz
3‘

7

The function f(z) = atz=0has:

(A) Removable singularity
(B) Essential singularity
(C) Isolated singularity

(D) None ofthe above
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26.

27.

28.

29..

B) 0
©) 2f

(D) 3f

W?@T@ﬁ%%j{ y:mx+i P ST &
m

(A) y*=4ax
(B) y*=-4ax
(C) x?=-4ay

(D) x*=4ay

LMI% FUE ©

(A) 0

(B) 1

(©) i

(D) tfaa 78 2
z-sinz

~
P

Z

.2=0 9 @ © :

Fd f(z) =
(A) 97 fafesan
(B) rfard fafes[r
(C) fage fafema
(D) Suga & & FE T

P.TO.



30. The function f(z)=2"is:
(A) Everywhere differentiable
(B) Everywhere analytic
(C) Nowhere analytic

(D) Analyticatz=0

w_3z~4 : i
=, 5 aregivenby:

A) z=1,z=4
(B) z=2,z=3
(C) z=3
(D) z=2

32. Thesolution ofthe following LPP :
Max z=-2x —2x,
st "=2x, <4
2%, —x,>4
andx>0
(A) Unbounded solution
(B) Infinite many solution
(C) Infeasible solution

(D) Feasible solution

(98]
[F8]

dual problem has n variables. then :
- (A) m<n

(B) m>n

(C) m=n

(D) m#n

M.Sc. Mathematics

31. Fixed points of the bilinear transformation

[f the primal problem has m constraints and its

[10]

30. &eH f(z)=2" % :

3.

(OS]

(%)

- (A) TET eEFaHE

(B) ©da fMsiuvids
(C) F&l i fagciyomeas @i
(D) z=0 9 fasdoTHS

3z—-4
z—2

fafas =T W= 3 R g ot

€

(A) z=1,z=4
B) z=2,z=3
(C) z=3
(D) z=2

. fr=ifafed LPP &1 &« 2

Max z=-2x —2x,

st -2x,<4
2x,-x,>4
Tx>0

(A) eTaRe= &d

(B) eaif &a

(C) o1& &d

(D) T

A o wEn § moufds & oiR g B

qE H n =A@

(A) -m<n

(B) m>n

(C) m=n

(D) m#n

Contd...



34, [fF:xi+y3+zf<,thendivF is: 34. o i‘:x§+yj+zlz, @ diviaw g+ & -
(A) 0 A) 0
B) 1 ; B) 1
© 2 © 2
D) 3 D) 3
35. For position vector t with magnitude r, the value 35. e |fesr ¢ o ofmmr r& ®@ grad e
of gradr™is: HH BA
(A) mr™F (A) mr™F
(B) mr™ % (B) mr™%F
©) mr™F (€) mer™'§
D) mr" @) mr"
=3 =3
36. Find the value 0f1/7: 36. - W S Fifor -
N 2
i — : (A)
3 3
4n i 4n
B) — By =
3 : 3
4n 4
(©) (©)
3 3
—4n —4\n
(D) 3 D) 3

M.Sc. Mathematics [11] PTO.
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37. The plane ax + by + ¢z = 0 cuts the cone

39.

40.

yz+zx +xy=0in perpendicular lines if :

(A) a*tb*+c?=0
(B) atbtc=10

C .]_+l+l—0
(%) a b ¢

1+1+10
D————-—:
()az T

. Which of the following isnota field ?

(A) (Q.t, )
(B) (R, +,9)
(©) (Zp.+p, 'p)’ P is prime number

(D) ({1-Li-i}.+te)

A ring with unity with zero divisor, and

commutative, iscalled ............ :
(A) Integral domain

(B) Field

(C) Ring withunity

(D) None ofthese

The period of the function

f(x) :\sin x‘+|cos xl is:

(A) m

(B) 27

| a

(D)

wla

M.Sc¢. Mathematics
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37.

40.

AT ax + by +cz =09 yz +zx +xy=0 &
reaq Yaelt ¥ e § AR

(A) a+b+c?=0

(B) atb+c=0

€y —+=+—=0

@ Gttt =0

. e H A e 8y T RY

(A) (Q.+,9)
B) (R, +,9)
(C) @+, ). P awwa Gen g

(D) ({ 1 3_1 :i>7i } 9+’.)

. T I S S died & a1 g He Wed @

T FHHEET B, e FEdm 8 ¢

(A) oIt o=
(B) &

(C) TS gad

(D) ¥ & H T

we f(x)=|sinx|+|cosx| N EEH B

(A) ©
(B) 2=

©

oA

D)

w |3

Contd...



41. The shape of catenary is :
(A) Hyperbola
(B) Circular
(C) Ellipse
(D) Parabola
42. Determine the [.fof (I1+y?)dx =(tan' y—x) dy:
(A) e
B) tan”'y

©) &=
Dy ™

43. Determine the order and degree of

(A) order-3, degree-2
(B) order-2, degree-3
(C) order-2, degree-2
(D) ordér-3, degree-3

44. Solutionof' y = px +E is:
p

2

2 a
A) y=¢cX+—
Ay e

® y=cox-=
C

(D) y=cx+2
c

M.Sc. Mathematics
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41.

42.

44.

et 1 oy & B
(A) Ffqaad

(B) gt

(C) g

(D) Tam

(1+y»)dx = (tan"! y—x) dy @1 I.f Tawaq

() &
(B) tan”'y

(C) eian = y

@) e

(A) Fife-3, =-2
(B) #ife-2, a&-3
(C) Ffe-2, w@-2
(D) #fe-3, a-3

a
y=px+; HEA B

5

2 a
A =CX+—
A) y C

a
B) y=cx——
C

2
C =czx—i—
© vy C

D) y=cx+=>
C

PTO.

e g b AR R T 3 R



45.

46.

47.

48.
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Which of the following statement of the
differential equations (2x+y) dx + (x +3y)dy =0

istrue?

(A) Itisexact

(B) Itisnotexact

(C) Itisa linear differential equation

(D) None ofthese

Which is wrong statement :
(A) E=1+A

B) E=A+1

(C) Vv=1-E'

(D) Vv=1-E

Which is called parabolic formula?

"

(A) Simpson's = Rule
2

52 5 ]

(B) Simpson's K} Rule

(C) Trapezoidal Rule

(D) None ofthese

Convergence rate of Regula falsi method is :

I
(A) 3
(B) 1

(C) 1.618

(D) 2

[14]

45, Fasd T (2x+y) dx + (x +3y)dy =0 &

o Frefafad & 9 $9-o1 #2999 27

(A) 72 7o B

(B) 7& 7o TE

(C) 75 uF Yah awa THT &
(D) & & #i§ T

46. 1 & IO FEA HH-A 8

(A) E= 1+A

(B) E=A+1

(C) V=1-E-

D) V=1-E

47. WaaE T HE Fed 87

"t

(A)ﬁl"q'ﬂ?:;ﬁw

1

(B) fraes Z‘ﬁm

(C) 2eiized fgw
(D) =8 & i &

48, Ther Rafy B i e e ®

o
) 3
B) 1
(C) 1.618

(D) 2

Contd...



49. A particle is projected with velocity 'u' along a

50.

smooth horizontal plane in a medium whose
resistance per unit mass is 'k' times the velocity,

then the velocity 'v' after time 't'is :

(A) ueM

(B) ueH

(€) ue™

(D) ue™

The radial and transverse velocities of a particle

are always proportional to each other, then path

of'the particle is :
(A) Circle
(B) Straigth line
(C) Ellipse

(D) Equiangular spiral

M.Sc. Mathematics
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50.
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A G S & o ofdy wfy 3 defy @
fod & k' TR, @ 3EE AT V.t E
%R 8

(A) uet

B) uet
(€) ue™
D) ue™

T B H B 7 g 3 W o g &
FHGART &, T T F 9 M T

(A) ™

(B) & @

(C) drigw

(D) wHefE At

B R T R e N
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